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This paper isof Thirty five (35) marks divided into
two (02) Sections‘A’ and ‘B’. Attempt the questions
contained in these Sections according to the detailed
instructions given there in. Candidates should limit
their answersto the questions on the given answer
sheet. No additional (B) answer sheet will be
issued.
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Section-A
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Long Answer Type Questions
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Note :— Section ‘A’ contains Five (05) Long-answer type

1.

guestions of Nine and Half (9%2) marks each.
Learners are required to answer any two (02)
guestions only.
Tug ‘%' § Ui (05) < 3w uvE f ™ €, vl
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Write short note on the following :

(@ Zoneplate

(b) Spatial and temporal coherence

frefafea w Gfiwa femforer fafem :
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What do you understand by multiple beam interference

Discuss working of Fabry-Perot Interferometer ? Derive

its mathematica expression for intengty.
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What do you understand by Spherical aberration?

Discuss condition for removing spherical aberration.
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4. Explain why we need cardinal pointsin optical system.

Explain different type of cardinal pointsin detail. Show
that when medium on either side of optical system is
same nodal point coincide with principle points.
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5. Explain working of Huygen eyepiece and calculate

cardinal pointsfor it using any suitable example.
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Section—B
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Short Answer Type Questions
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Note:- Section ‘B’ contains Eight (08) Short-answer type
guestions of Four (04) marks each. Learners are
required to answer any four (04) questions only.
Tve ‘@' # a8 (08) Y SwWiE g I ™ E,
e ¥ o folt =m (04) i fauffea ¥ 1 forenfim
I T8 G Hhael |’ (04) T & W 3 |
K-29 (3) P.T.0.



1. Explain Brester law for polarized light.

Yelihd TohT o e X faw =t =men #ifs |
2. Explain detail working of double refraction.
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3. A diffraction pattern is obtained with a straight edge
using light of wavelength 5500 A. The separation
between the edge and the source is 15 cm while that
between the edge and the eyepiece is 3 m. What is the
position of the first maximum?
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% Y T faad= Yo ura fhan s §1 R siR i
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4. What do you understand by Nicol Prism ?
et firem | o9 7= Twe § 2

5. Discuss condition of Fresndl and Franhauffer diffraction.
el IR Therw faads &t fegfa w— ==t S|

6. Write short note on Fresnel biprism.
Here fgfoen o wfere feoqoft fafe |

7. Statethe principle of superposition of waves.
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Explain Fermat principle in detail. Derive laws of

refraction from it.
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